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Chapter 11 , A
Lesson 11-1
1. Look at the polyhedron at the right. »
C F
a. How many vertices are there? List them L) P s B, % ) ar_ A
b. How many edges are there? List them. V] / ﬁa GC U”” 49 ¢ P BE
c. How many faces are tl{ere? List them. V“'v J ’DV é—;’ 8
@, Atge, ADLF, DIAOFC peche, maveg
Lessons 11-2 and 11-3
Find the (a) lateral area and (b) surface area an (c) volume of each figure. Leave
your answers in terms of 7 or in simplest radical form.
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15. An optical instrument contains a 2am P k LEN t IJ - il
tr-languliar glass prism with. the A= P;“ 28 tmt :54'57 ) -
dimensions shown at the right. TR AN
Find the lateral area and surface a \ 4am 1 9131+ 2( *) -/
area of the prism. Round to the ooy N1 2 H=Y
nearest tenth\ Vo /_‘if_\:F -
{2).3em? | prlz+2tE
16. A company packages salt in a . B ( N2+~
cylindrical box that has a (é“f; -y .83
diameter of 8 cm and a height of 35| | LA-= @” e s b e
13.5 cm. Find the lateral area ) L B (=& o
and surface area of the box. i gmnBs) B=lew V= 8H
Round to the nearest tenth. [U/ — H (3.5 (I “X 3, ;)
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26. A greenhouse has the dimensions shown in the figure.
What is the/vo uwf the greenhouse? Round to the T
nearest cubic foot. "

] | o4, S {570 443) o

35ft
AP 1 27. Find the volume of a can of chicken broth that has a

(,: . .diameter of 7.5 cm and a height of 11 cm. Round to the . + oty oy =
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“emeck many cubic inches of water does the cup hold when it is full to the brim? Round to the H=3%
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Find the volume and surface area of a sphere with the given radius or diameter. Give each answer in terms
of © and rounded to the nearest whole number. 4
| i

30.7=5cm 31.r=3ft - o 32.4=8in. i
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The surface area of each sphere is given. Find the volume of each sphere in terms of m
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39. A spherical beach ball has a diameter of 1.75 ft when it is full of air. What ié the surface area of the beach ball, and
how many cubic feet of air does it contain? Round to the nearest hundredth.
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Find the surface area and volume of the following composite figures;

{iow x 3o Y20 T X 00

11. The circumference of a standard baseball is about 9 in. Aboutiow many square in. of horsehide are required to
cover 100 baseballs, to the nearest whole number?
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12. The radius of Earth is approximately 4000 mi, and the radius of its core, which is a sphere of molten
metals, is about 800 mi. What is the volume of Earth that lies outside the core to the nearest billion
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' 13. Concrete canbe purchased by the cubic yard. How much will it cost to pour a rectangular slab 18 feet by 18 \' 7\‘,
3\ feet by 4 Iunches for a patio if the Concre‘Fe Costéj$41.00 per cubic ya@ 1 cu_\/fi = 36" X362 3 " u
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14. Janine wants to paint just the lateral surface of a cylindrical pottery vase that has a height of 45 cm and a diameter
14 cm. To the nearest whole number, find the number of square centimeters she will need to paint.
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15. Qanine made a cylindrical vase in which the sum of the lateral area and area of one base was about 30001 square
centimeters. The vase had a height of 35 centimeters. Find the radius of the vase.
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10) . Aright prism has a hexagonal base. If each side of the hexagon is 6 cm, and the height of the prism is 1Q
cm, find the surface area and volume of the figurg_a‘v e She Hﬂf) | ( V= lgﬂ"‘x
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11) A cylinder has a surface area of 5677 and a height of 3. Find the radius.
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12) . Aconehasa Surface area of 727 and a slant height of 1. Find the fadius. V2= N (s
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14. Janine wants to paint just the lateral surface of a cylindri
| . ylindrical pottery vase that has a height of 45 cm and i
; 14 cm. To the nearest whole number, find the number of square centimeters she will negd to paint. " dameter
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15. Janine made a cylindrical vase in which the sum of the |
' _ ateral area and area of one ba
centimeters. The vase had a height of 35 centimeters. Find the radius of the vase.
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10) . Aright prism has a hexagonal base. If each side of the hexagon is 6 ¢cm, and the height of the prism is 10
cm, find the surface area and volume of the figurg.iv o Sf’r"PH'ﬂ‘B o Y= ‘éﬂrr
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11) A cylinder has a surface area of 5677 and a height of 3. Find the radius.
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12) . Acone hasa $atface area of 727 and a slant height of 1. Find the r‘é’aﬁg
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